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ELEMENTARY MATH FUNCTIONS

Elementary math functions include logarithms, exponentials, absolute value,
rounding functions, and functions used in discrete mathematics.

Common Computations:

abs(x) : Finds the absolute value of x.

abs(3)
ans

3
sqrt(x) : Finds the square root of x.

sqrt(85)
ans

9.2195

nthroot(x,n) : Finds the real nth root of x. This fun¢ti0n~ will not return complex results.
nthroot(2, 3)

ans
1.2599

sign(x) : Returns a value of -1 if x is less than zero, a value of 0 if x equals zero, and a
value of 1 if x is greater than zero.

sign(8)
ans

1
rem(x,y) Computes the remainder of x/y.

rem(25,4)
ans 1

The following are true by convention:

(")



rem(X,0) is NaN.
rem(X,X) for X~=01is 0.

rem(X,Y) for X~=Y and Y~=0 has the same sign as X.

exp(x) : Computes the value of ex, where e is the base for natural logarithms, or

approximately 2.7183.
exp(10)

ans
2.2026e+04 =2.2026 x10+¢  (note)

log(x) : Computes In(x), the natural logarithm of x (to the base e).
log(10)
ans

23026

log10(x) : Computes log10(x), the common logarithm of x (to the base 10).
log10(10)
ans

1

round(x) : Rounds x to the nearest integer.

round(8.6)
ans

9

fix(x) : Rounds (or truncates) x to the nearest integer toward
zero. Notice that 8.6 truncates to 8, not 9, with this function.

fix(8.6)
ans

8



floor(x) : Rounds x to the nearest integer toward negative infinity.

floor(8.6)
ans

®

ceil(x) rounds the elements of x to the nearest integers greater than or equal to x

ceil(3.9)
ans

4
ceil(3.2)

ans

(2
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>> % Enterring the walus of mavrix in different trends
>> % By defining the Macrix A
>> A=[1,3:;6,4]
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>» % Today We're going to discuss the basic operavion on Mabrices

> By Defining the Hatrix &
>> A=[1 2;3 4;5 €]
A:

2

4

6

>> % By Defining the watrix B
»>> B=[7 8:;9 10:;11 12]

B =
7 8
9 10
11 12

>> % By wmaking sdditica to koth LER

> % hzsumz thet the Result of swweeation would ke denorted sz C

>> C=A+B

C =
8 10
12 14
16 18
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5> % By Defining the Watrix A
>> A=[12;4 6,9 8],

5> U4 By Defining the Matrix B
>>B=[04,39,37], -~

>> C=A-B
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/(1>:0)+(2>:4) (x3)+(2x9)  (Ix3)+(2x7)
c=| (Ax0)H(6x4)  (4x3)+H(6x9) (4x3)+(6xT)
L(9x0)+(8<4)  (9x3)+(8<9) (9x3)+(8x7) )
(8 21 17

c=|24 66 54
32 99 83,
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| >> U Ry defining the Matrze A
>> A=[1 24 6,9 8],
> % By Definng the Matnxz B
>>B=[033497]
=2 % C=4*B

o> C=AYB
e
8 21 17
24 66 54
22 99 B3
;>:>
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1
— =inv(A
y inv(A)

Where inv( ) is the inverse function
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(oY) ¥aladl ol Ja

3x,-40%X5-30K5=15 0o+ eereeeeiaeeea (1)
18,1 1%5493%5=10. e evvveeereieneenn, 2)
9OX1+5X2-30X3:18 ......................... (3)

: AU JSENL d8Mal (iss s Jall

ax=b

3 glosall 3 5L
3 -4 3 15
18 11 93 X = 10
90 5 -30 18

X o ol Jal (e dle b ) peali yl (iSG
a=[3-4-3;18 11 93,90 5 -30];

>> b=[15;10;18];

>> x=a\b

X =
0.5485 < X1
-3.6647 “ X2
0.4348 - X3




6x1=40%2-30%3+70Xs=1S . covecrransnnnaness (1)
10%:+1 139801 L snees s ovmnmn nam wonae (2)
90x,+5%2-30X3=18...cooiiiii (3)
8% 148 TR BT 85 s s onsns snane svssnese (4)

a=[6-40-3070;1011 930,905 -300;5 14 7 -1];
>> b=[15;11;18;80];
>> x=a\b
X =
-0.3559
6.4022
-0.6007

3.6457
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5> A=[12345678910]

A= Row Vector

1 2 3 4 5 6 7 8 9 10

1A aaial 3 ) o 4
> B=[l;2;3;4;5;6;7;8;9;10]

R=

Column Vector
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Command Window

>> A=[12345678910]

Command Window .
>> A=[12345678910],
5> % It's required to get the length of A

>> length(A)
Sa g gall el ase g4 length — 3 pahalld
ans = Aaiall LA
10 L " ﬁ\yﬁ@id:&j&;ﬁij,ﬁhﬁlj

4 ghuadll J gk a5 oY) Alandly o 585 Y1

gasac Aaia o Apleall udi doe (Sa

Command Window

5> A=[1: 2 3,4, 5, 6,7, 8,9 10]
A=
\
1
2
3
4 £ 340 Anda L&y o
: :
6
7
8 Li ERCER J
9
10
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> A=[1,2,3,4,5,6,78,9, 10]
A:
1
2
3 ?’
4 A
5
6
7
8
g
10

5> length(4)
' ans =

10
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s Al 5y guall el
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>> A(13)=140
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s> A=[1:2,3;,4,5,6,7, 8,9, 10],
>> A(1D=11;
>> A(12)=12;

> A(1D=12. YN
>> A ) "

1
2
3
4
5
6
7
8
e
0

lendl Lé a5, 1000 sl e 85 100 Jsaf &5 1) JUE IR KA P JUS P
Yiad dlliall SELY1 e Ao sane g o ool 1) aadiud ULl A AS e il
Lasie 5 1:1 0 M) iS5 10 M 1 e Flltial) BV o Ao sana S Ol 2 Ladie
13 s 10:1200 <585 1200 Y 10 oe Al ALY (e Ao game AUS 2
Glls 11:13 S Wllie 3 LS 13 S 11 e Aliall ewj\z\wrmwxeusu;j

A 5y geall B LS UL B AN (S

Cammand Window
o A={1:2,3:4,5,6,7, 8,9 10],
>> A(11:13)=[11 12 13]
1
2
3
4
5
6 Aaliiiall GAAD Ldad o
7 LIRS A T T T AP
8 o (W
9
10
11
12
13
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Command Wmdow _ ,
To get started select MA'ILAB Help or Demos from the Help menu,

>» A=[1;2,3,4,5 6,789, 107,

Il

1

2

3

4

5 -

g J'”ijﬁ »v,s; “"‘ég
8

9

10

>> A(3)=15
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>>A=[12 3,4,5, 6,7, 8,9; 10]

A=

WO 00 =) hflnh ™ L N —

—
o

>> A(E:10)=[0 000 0]

A=

OC)OOC)L)I-&UJ[\J*—*

/
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5> A=[1:2,3; 4,5, 6,7, 8,9 10]

A=

woo~JownbhwNn =

W oo~ Lth B —
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Command Window .
>> A=[1,2,3,4,5,6,7,8, 9, 10]

A=

Woo~Jauh b WK —

10

D ale gl
Gl Ky g Anidl (e S gl B eainll dad o Jganll 2 43 3 palall puaie ¢l
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To get started, select MATLAB Help or Demos from the Help menu.

>» A=[1;2,3,4,5,6,7, 8,9, 10]

1
_3, shaghy o ad ) paded) ¢lAd
5
6
~
8
S
10
>> A(S5)
' ans =
5

© ale (e JiS) gl
JA‘J‘Y‘B;\AU‘;‘G QS'S.Y\JA:_\?E ,Anie (40 BAas _palic A.GJA;A@.\EGJ; Jsaall
Command Window



b A=l1-2-3:4. 5. 6: 7 B 8; 10]

A=
1
2
3
4 - " “
5 AR 4 makad
6 L () el
2 fadal) JAds
10

>> A(6:10)

8

—
o

D dadall B Y uaisll alay)
O b Aslasiul Sa) Eus maX, DY) aladiad iy Aaie (b SY) eaiall Sy
s QU Jsall

Command Window

>> 4=[10 22 36 41 44 59 61 73],
>>max(A) .
ans =
73
. FURENR PN
dadad)
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D dadall A gall paiall slay
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a8 ULl daiall Jahy Jaal el slagY s J&Y1 Gl minimum 4alS) jlaial i

L) Jany

Cdn‘ujﬁénﬂdv'indn i s
>> A=[10 22 36 41 44 59 61 73],
>> min(A).

&

»

e, S 5 P S Y
A fadall i daaY)

: Axdall palic £ gana dlay)
Ayl 32l of 0y Y 13 ol Cus sum eV plasiuly 4l jalic paea gas (Say
Al 3 ) el 3 o om0 B

Sum (adadl pul)

oY) Dulall (b Jle Jeny a8l

Command Window "
>> Y=[1

2 3],
>> sum(Y)

ans =

6

DAt b palinll Gl Juala alay)

LS 3 A 5y pall Y1 138 380 of casy s product
prod (fFad<di i)

ULl 3 Liadat Yl 220 091
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>> Y=[1234],
77 prod® i shuadll o cilanl
el (=]
ans = .
24 i : A ghiaall paa Al

Ao J\_AJY dJ_SJ\_I_’cJ : : - _3'\ fujs_..a.d\?_;;;\q}!
S plasiad mliay ¥ i siZE, e aladil sy A giaad 3aac Y5 o siall
Lises e uin sily il giaadl b Guly cleaidl b asiey length Lalilength,
ae Oiq‘)w&ﬂﬁwweﬁﬂyj a1 13 il Jasae JUe Jeng 588
LSl Jeall LS (-smm e g s Y b guall

>> A=[34 9,24 5]
A=
3 4 9
2 4 5

>> A=[349:24 5]

A= N
size 0!
3 4 9 /
2 4 5 Mw
>> size(A) L .
i gl S5
g Saas Yl aas
2 '3

Y Jany p i Ja b siall dae e ol Lol 13)

>> size(4,1)
ans =

2

s 3
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>> size(4,2)
ans =

3

asi Ly cadtilall Jala Taa dalgd) clilasll (ga & yualic 330 | yuale dilia) Al
o oy a1ty a3 L adaos LS Lol ol ol e S Lgaladinly
Ll B Al phian iy 2 Y5} s Ll Al agdl) Als yo oal (fin e plaoly o 585

>>B=[13278,26511,12 14 15 13]
B=

1 3 7 8
2 6 5 1
12 14 15 13

Al S o 585, w&\éﬁ\}@@\@\é42@§)&ﬁeﬂd\ RPRURLH PRI
Ll

>> B(2,5)=42
B=

1 3 7 8 0
2 6 5 11 42
12 14 15 13 0

(,t_aem,ueﬁsc_._-a”:ag,umu\g,ﬂ,ﬂu\mq@\}dﬂ\q@wphmu
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¢ . | A {
=>B(4,14)=[3154 13 11] Jj\; O daas¥

2l Al riia]

B=

1 3 7 8
2 6 5 11
12 14 15 13

31 54 13 11 s Sasaadl paidall

1 als Jlagal
Jlaci sl AlKa) it s Tas dals LSl L@_a\m\eu\_a\_)a\_:ﬂ\_ﬂaa.\\ou O a8
LAS‘UJ&MQA‘—MgFAJ?J&hJ AAuaEJ\oJA cguajﬂj AA)L‘ud\LLJJ _alic Bac j\dyguc
Tdose Li_S3
>>B=[1327826511,12141513]
R=

1 3 7 8
2 6 5 1
12 14 15 13

a1 I Y1 3 sendly ) Caall (B el iy a gl g

>5 B(3,1)=0

R=
1 3 7 8
2 6 5 11
0 14 15 13

all d.lu_uuu\ .}_)_)J \_u‘d.ﬂ-\j L.\.uud\_mduu;nlus.u Jm\_n‘— Bac d\.:.u.u\ \_)J_)\ \.)U
> B(l:2,1:3)=0
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>>B=[1378,26511;,12141513]
B=

7 8
5 1

1 3
2 6
14 15 13

12
A N Caoall Cada i il Jid

¥

Aglap a0 a5 8 Aag i Ll 93) @y

y s
>>BEH A s A A
B= \ ' éﬁ:”ﬂg&()@b\,
\"—m__,_ﬂ saas ! Rkl J%j
1 3 7 B ~
2 6 5 11 7 Lnly il

:L_,JU\S\MPB,MS@\JJ\ Jgand) Lidadg

>> B(.4=(]
B=
1 3 7
2 6 5
12 14 15



P ale el
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b L83 a3 ) A ghad) gadi Ao cpaaine Jana Qe Jery a5, ¥ 138 sl
Gl JUill

>>B=[1378,26511;,1214 1513]

B=
1 3 7 8
2 6 5 11
12 14 15 13
>> B(1,3)
ans =

7

N ) S 3 andl ey SN ol elaiy e pgEi | el (e ST elaily

>» B(2,24)
ans =

6 5 11

Jaand o a3 yis  Leaaa Ciad S5 ol 13) 13le oS0y 4 haall ana e Ll Al 4 130
Sl Caall (e Sie 5aY) aiall e
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>> B(2,end)
ans = - = pairdl juid) Aad end s

11

+ S aindl alag)

i Calise IS Abghaad) o deal) Gk oo DS eaiall alaly 6L o iy
OS b SY) ainll o Cuaally COUL 053 Qb ghaadl & SY) paiall e diay
dgee US Cra SV a4 dnie an psy el Jan iy Ladnag (A8 ghiaall (3 gae
Ll e Lghli) &5 4 shan OY) Ll g gill U JU) kil

A=
1 15 2 11
23 1 4 5
3 1 15 7
1 9 10

(e Ui S5 LS max Y 4lS, pil

>> B=max(A)
B=

23 15 15 11

sy SYI SN s Jasae JS e SY) yeatall LAl GO A8 Sl a3 LS
JSS 4 giadll b 5SY) @0 e duans AUl oAl gl seY1 el AU g
>> C=max(B)
C=

23

(38)
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>> A=[115211,23145,31157,14910]

A=
1 15 2 11
23 1 4 5
1 15 7
1 9 10
>> B=min(4)
B=
1 1 2 5
>> C=min(B)
C=
1

2 pabind) £ gana Ja)
Sy UL s el Fuae (S1y SUM a1 ity o5 Lialel LS ¢ panndll sl
éu\dw\sﬁus,wﬁ_)}m‘_geay}|b‘;b J}quScA;
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=> A=[1 15211,22145,31157,14910]

A=

1 15 2 11
23 1 4 5
31 15 7
1 4 9 10
>> B=sum(4)
B=

28 21 30 33
>>C=5ufn(B)
C=

112

: paliad) Gupd Juals dayl
laa o gae US) 0 5S5 oyl Alee 3 (b 81y A shad pslic i oS
aatdl palic o uin gy 5l B e el pladiud o5 13)y Anie (b @il gomy
Al Al dail Lgrien 48 i aall o i)l Jials i) Lgrmea

>> A=[1 15211,23145,31157,14910]

A=

—

1 15 1
3

3
1

N
—

2
4
1 15

4 9 1

O~

>> B=prod(&)
B=
69 60 1080 3850
=> C=prod(B)
C=

1.7214e+010

(40)



A8 ghiaall hd alay)

2233 dpalal) olli o Lo guad Tan 2als LSy | papalSH alasial 13 0 5S5 08 dlaal) 030
Jic 1385 diag, ¥ alasiv | iy (BaaeY) a6 glusy b sial Fase ) day_yall 48 siiadll
A

>> % By defining the Square Matrix A
>» A=[115211,23145;31 157,149 10]

>> % By Getting the Diagonal of the Matrix A
>> B=diag(4)

B=

1
1
15
10

Llee o Jgmnll 2y 55 Dich 28 50 aall Sk e cbleadl e apaedl e oY) LSy

S5 A{115211,23145,31157,149 10]

A=

1
4 9 10
>> B=sum(diag(A))
B=
27
aliall A G pda Juals o Jsandl 5 L

e zﬂm\
™.
y ._,.“\w___

g>



5> A=[115211;23145;31 157,149 10]

A=

=> B=prod(diag(A))

B=

150

(42



scilgaially dualddl J)gally o) cildaall
Hssqijumsjwi e 23 lgatall o ks oy A Jsall (pe aaall Sllia
0 A ODA (e O gall g ililenll 03 plana 7 s oy
:JEal b LS Asiall jualic s sy 58 :Length 4l

>>vy=[25014-1]

V=

2 5 0 1 4 -1
>> length(v)

ans =

6
d\_ul\ GJLAS‘\A:AA.“ Jm\—\c s d.-a\.; .3\.:.}}.3 allal) o2 e}.ﬁ -Sum adialy Y

>> w=sum(v)
w =
1 |
- ALl L LS daadl) dus (e aaniall palic S| slaals Adlall oda 5 s85: Max aal Ly
>> w=max(V)
w =
5 £
- JULal uJ LeS dagsll Cus (g0 daiall palic yaa) Al PRIV IR 3333 ‘Min Al ¢

>> w=min(v)

W=
-1

Laetoas (st ji asiall jualic o iy Al o3a o 5 Sort alal o
>>1=[97 58 3]
r:

9 7 5 8 3
>> s=sort(r)

e
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3 5 7 8 9
adied ynalydaidl i das ST om Gl Glusy Allallo3a o 58 Range Alall 1

>> range(r)

ans =

6

el e Alaal Cilenl) 038 Jadiy 1leaiall e a3l sn] ¢ A Abuad) cilenl
sy Lo Lgasan i clleal) o3 (of Ui 3 LYY sy (81 ol (S @y @l s z skl
_C.\\é_,é.a.d\ By
a5l ABLYY ymmy
>>x=[1,3,5];
>>y=[2,4,6];

>> 7=Xty
7=

3 7 11
>> m=y-X
m=

1 1 1
>> p=x.*y

2 12 30
> p—r2

1 9 25

. :Matrices <ild guaall

Gl )l bl oda 0SS Le dale g dlma clilal e i B e Boke (A il siaall
s s om ol Cus (mxn) ail) e Jsii Lo sale g baeely Cagha (o 0S5 48 ghuadll
saacylaxe g4 5 b siuall

----------------------------------------

>> Matrix=[1,2,3,;4,5,6;7,8,9]

Matrix =
1 2 3
5 6
7 8 9

A stad) G el of SN Crall alag) apdiiod Luila 43 gicaa Lual IS 13) SIS
>> Matrix(2,:)

ans =

()

h :

ey,



>> Matrix(:,2)

ans =

oo L N

>> Matrix(:)

ans =

O O\ WooWnN I —

>> Matrix(1,2)

ans =
2

>> Matrix(:,2) = [ ]
Matrix =

1 =
4 6
7 9

>> Matrix(2,:) = [ ]
Matrix =

A ghaall (e AN gl G S ganll Sl aalaios SIS

33ae Y1 casi b 4 ghinall jualic aan Laf 3)

1 SN 3 saladl 5 Y Crall a3 5l suaial) Ll 13) L

Z\AM‘L)AJJAGJiumL_ﬂAMJ

48 ghaall 3 sae 5l Ciia Ciniaig

>> Matrix=[1,2,3,;4,5,6;7,8,9;10,11,12]

1 2 3

7 8 9
Matrix =

1 2 3

4 5 6

)

X ]



7 8 9

10 11 12
148 shiaall b aaiy
>> diag(Matrix)
ans =
1
5
9

:(Transpose) 4 siadll Jsite >
aﬁ;s\wasjmeAaéMd}uA\qﬂ nxm daal e dshias 4=[g,] 0
G\chjimgzL@jmbABm‘\th@}mQ‘,ﬁ&qu e \gle Jaans Al mxn

CAT el A il e i A1l

>> A=[135;246]

A=
1 3 5
2 4 6
>> A
ans =
1 2
3 4
5 6
dyﬁjﬁjw\amuﬁni;)ﬂ\w@fﬁ}m A=[3J]QS3!;Q\.>_\;A\ >

s Ll il det(A) 5. ML
det(A) =2, <=n=1 S )
det(A) = a,,8,, — 8,3, < N =2 O Y

det(A) = 3 (-1 a, det A, = n>2 IS ¥
J=1
:Q\J.J;A.“ C..Aﬁ d\:\.q
>>A=[103;450;789]

A=

< b -
oo W O
O O W




>> det(A)
ans =
36
;@@wﬂq}u&;ﬁ\:\,Ammymsa\sau,mmt\;\uzuu,snsjuy\%mj
b 4 siad) o2 ﬁmjjumi&sjgsuyusdsdﬁg\@j Ay jiall 4d giiaall )
il giadl aeall sl

>> x=zeros(3,2)

e o yualic. asen (S5 ) & giadl) 2 5 sl sal gl s yualic guen il 4 siiaa ¥
.L\_’(é_)l\

>> x=ones(3,2)

x:

@;..43\ J}‘JM\.GJ‘F;.\J‘J.S)“ )k.d‘ )m\.\c t\uuﬂ&ﬂf&ﬁ%@ebhﬁ‘aﬁwv
>> id=eye(4)

id =
1 0 0 O
o 1 0 O
0o 0 1 O
0 0 0 1

. Matrix Algebracié siiad) na(y-¢)
Sy Al dpalal) Auleall cilileall b 5 geall el gl e aclsd o clighiaall s adia
oSy )_\3.}..15\_931\ PRYS @m}&\aﬂd}@dﬂ; cJ\AcSﬂb_L:@lg]
(b gimally dalal) Jigall >
L‘;LASBJA‘;C dsaé}é.\ad\'émionajac dsﬂm@uejﬁghj ‘Sum b )
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>> x=[1,2,3:4,5,6;7,8,9]

X__'_—

N b~ -
oo W N
O O\ W

>> A=sum(X)
A=

12 15 18
>> A=sum(x')
A=

6 15 24

b S A il saecl e agee US (B 252 pB) ST G psii ooy :Max ALY
JUal)

>> B=max(X)

s QU LeS A shuaall Sash yia_yms Allall o2 o 8 :Size gy
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raiall ga IV A siiadll palic (e geaie JS gany gendl lee aTiipandl )
il 8 LS Al A8 ghaall palic (e 4l liliall

>> A=[1,3;5,7];

>>B=[2,4;6,8];

>>C=A+B

) b LS Al A shomal) sualic (30 4l S jeaiall
>> C=A-B
C=
-1 -1
-1 -1
rJU) 8 LS amy A8 shaal) jualie iy Gl Addee 56 10 puall Y
>> C=A*B
C:
20 28
52 76 o ‘
() & LS 358 ol ul (] Ary sl 4 ghcmall ad ) LSy LaS 1 (U)o 8 () A siuaall 1 8
>> C=A"2
C:

16 24
40 64

>> C=AND

(4 9)
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1 9
25 49
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array editor 14 shadl ) jaa

Cld ghesell o8 3 g2y 2 e (b paiuy

£ _Viorkspace

X ﬂ qfl % % o~
B matrix <3:3 double> Value !
i 2 3 4 5 6 7 8 [1,2,3:4,5,67,89]

1 1 2 3 . ig
2 4 5 3 ! it
3 7 8 9 . it
1N E—— A R
5
6 i o -
7
8
9
10
1 ;
5 Command History
13 d a=imread (' cameraman.
1‘1 <11 i-imshow(a)

TR i i . p=imadiust (a); &

x=input('enter your age:')
enter your age:38

X:

YA

y=input('enter your name: ''s")
enter your name: Mohamed beelo
y =

Mohamed beelo

>> x=9;
>> disp(x)
9

>> display(x)

x:
g

(50)

) r
Workspace 838U & 44 siaall ol ez g all il ellyg

(I AY s JA sal gl
input JAN Jal -

Js¥ g il
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disp , display g AY) sl - ¥
Jla
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cldghaall Jdo o Al cldas £,

3 4 © D Adsnalll oSl

2 0
(DY) ae 33ee Y Jlatiul) A shae Jiie dlayl -
T dailill 48 gaimall (o S5 T=D
3 2
4 0
S daslll 48 huadll 588 S = inv(D) oAb ghiae Coglie g -
0 D5

0.25 -=0.375

V = rank(D) oAb ime Ay ol -
ans=2
cid shadd) o datite cillee 0,
A ghioall jpualic e Sl ao 48 gheaall j0 e Jlaxial V0,0

C 48 shimall K0
b,

N
SN e W N
U1 ®©
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5 6 5 6
| 0 9 0 9
c(:[3,4,3/4]) ans=g 409 8 10
5 6 5 6
4 7 8 10
. 1 2 5 6
c([3,1,3,21,%) ans=,4 7 8 10
16 0 9

e (s IS5 ity A siaadl o Jabll ¥, 0

1 3 12 10
5 4 3 4 K A ghaall (S
7 0 10 8

k(:)" -
ms=1 5 7 3 4 0 12 3 10 10 4 8

. (n) 32l 2325 (M) Sy e dusy A ghead) JSI5 sk} -

reshape (matrix name ,m,n)

s Jla
‘ 1 4 10
5 0 10
reshape(k,4,3) ans= o, 1o 4
3 3 8

(52



7 4 12 10 4
3 0

; 1
reshape(k,2,6) ans = S 3 10 8

i.e_,w e o
rot90(matrix name)

s Jle
10 4 8
_ 12 3 10
rot90(k) ans = 3 4 0
1 5 7

2.3_53..44\ paa 3 -
size (matrix name)

length(matrix name)
: JGa

size(k) ans=3 4
length(k) ans=4

1
2 1 2 3 43 gell by 43 plaudl g ()l ghianll (K1)
3

a*b ans =14

1388y A el ae  SE 8 paall 5 J oY) land) ae ISV 3 el i a3 g

b*a ans

1
W N
OB N
O O W



«d3aaNa

j)ﬂéﬁ_}_}‘QPJ‘M@\SJJJU:_B‘);)J\JA\M‘_}AJ

1 2 3 5 v .
- = G |
sl -
10 '
* —
5. ans 6 4
‘oo o
a./b S 0.3333 0.4000
' 1.5000 4.0000
sl gl -
32
N oy
a."b ans 4
clladla

ool gealic aic o glae (ad B3y i 4 ghena ol5) -
linspace(a,b,c)
fjiadl palic s ¢ Aelideadlp  ASiiedla o
W pealic ade o glea Lty jle ) B0l Fie A8 sheas JLi) -
logspace(a,b,c)

fghad) e e ¢ Adelidedllp  Aslulldedla o Cus

N
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;@AUJ,\J\M?SSLU PRESain gﬂ\ sl ¥

If statement if ble

isa CM (55 A gl g s A e ) da )l pand Aafil o Slaie VL galial) e pSadll padid
ddasuall if 3 ke - ]
>>If expression 1
>>Statement group 1

>>end

Jla

if a>b

disp('a greater than b')
end

if a<b

disp(‘a less than b')
end

ifa==

disp(‘a equal to b')

end



cAlalidl if 5 ,le - 2
glez

clear all;

d=7;
if a==b
if c<d
disp('a equal to b and c less than d')
end
end
. elseif ke -3
gles
clear all;
a=8;
b=16;
c=a"2-b"2;
if a==
disp('c equal to zero')
elseif a>b
disp('c greater than zero')
else

disp('c less than zero')

(56)



for statement for ) Siis le

e\;;"’; Qfl}‘j\a_cwjﬁf\ﬂSgﬁa\fadq?s;ﬂ\eﬁgjﬁ.m:ﬁh&\ff\}y‘QA:\.G)A_AAJ\)A\'Aéé.me.:ﬁuﬁ

for i=k:m:n
Statement(s)

end

slaall Jiay | iCus

Saadl Al dag

a gl ik g

alanll 4led Aad
Ao o135 Al dmy A8 el W) Ao gema 5 Y1 38N ] alaall k Aol dad oS Gl (585 5a¥) 1agd Jeall 45,
uﬂcgibnaé¥maﬁﬁ‘s“%hﬂV)deHﬁ)“s)‘)ﬂfwacrgﬂjhﬁy‘5¥¥ﬁn3ﬁﬁdﬁﬁﬁﬁéhﬂ

; Tad paahy " 1S5 3 955 I 4, pde CSad ] Lé‘JLuﬁ'& 9L>J Jcanls 1Al c.c\.:)ﬂ\ K¥TEY ugjﬁg‘aj 2t Laaie  pall
(53\_\.“ ds...ﬂ\_a 2\1\.«.5\ aS@J )A\z’\ Sjya UJSSJ .ub:d.! L*Lg_ﬂ\_g 4&\3.1.“

for i=k:n
Statement(s)

end
Sall el yall L) m-file aadinl Jla

s=0;

for i=1:1:10
s=s+1

end



S QU & LS (1) B pbadd) pizm g ae (AU a2l aladiil IS Adaadle

s=0;
for i=10:-1:1
s=s+1
end
S el pll S m-file aaddiul Ui
s=0;
for 1=1:1:10
s=s+1
end
el sV BNL ] el pes al men (e Al alE Y Aol o il
S=1,5=3,8%6, coviiiiiiii e s=66
Olalate cpls alasiiud Qe
] Alaall A0 fall Aaladl ¢ § alaall daa jlad) A8l ) plasinl a5 Allall o2a b
. A_J)a.“ d}a;dldh_,wuugjﬁj 1 t_!i.l.ﬁk:.!\&}hm'&.\c h&@aﬁ&tﬂ‘dm‘
for i=1:5
for j=1:5
A(i,j)=1i*]
end
end

1 2 3 4 5
2 4 6 8 10
3 6 9 12 15

4 8 12 16 20

5 10 15 20 25 frae
- (52)



Jla

for i=1:5
for 3j=1:5
A=i*]
end
end

§ o paen 5 e el s § o en B 1 e O 1S 8] agand 3 a0 ISy ey



MATLAB eabiz o el

m-file <ile
e s s m-files =3 (Computer code) smts 28 Sl (5583 A bl
db.ﬂ\ calala g u_UAS.AM uaﬂ\ <iala -mn-files
o 3_yasll gkzi g;:ﬂ\.ﬁ ¢f\_3‘>1\ 53843 ?‘M\ BEEY _)A\_,\.ﬂ Jiaay A JA m-file M alag
uauz\ig)hl\aﬁbgbﬂmacm?um;@Y\wJ4dmujm Eca\.\‘)ﬂ\tu\_ss
Ll ) jaaall

aaa (e el JaaY Al o2 paliall o o daadll -
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3380 ek Ca s script S o3 mEW il i file 4 o il m-files <ale L5Y
» Al

| File Edit Ted Go Cell Tools Debug Desktop Window Help

e T MELEERIE EN Menh|B-EREREE ezé.z* o
28| _';1.& Te |+ 1 ixg%%%%gﬁ_ -
1 - clec; A L)
| 2 - a=input {'entexr wector of three numbers: ')’ )
; 3 - sum=sum{sum(a)}’;
HE average=mean (mean{a}}: i
5 -  display{sum}: i
& — display{a.verage) : é




o Ed?tor-C:\Users\DELL\DQ;pm;p__t_{\MATL{lB\_;_c |
file Edit Tex Go. Cell Tools - Debug ' | n x|
SEIEE RN S B U 40 sk bere - || & B E S[0)
TEE| - (x|t e [HeE|O, -
4. 4 Sexipr File firsvgraph, B
L} 25 x = pi/160:pi/100:304pi; : »
‘ 3 - v = sin(x)./x; .‘r
4-  plotix,y)
5 - grid
[eciiak i v |
| script iln 5 -Col 5 I"m.a. o

Lo script il Jlie e b s B3I a1 ey (o) 280 440 8 5
b i s

iy Al g Lot oy el JS ¢ Gslad o Bl 55 % el law Jg¥) dad) 2 g)
el 3 gS1 Bel 8 opent) Cilot Jais (235 Y 5| MATLAB

On ey s 5 A siie Alialiy shaws S et Cus ¥ 5% €l shean AN (Y ) Ll
Aslall e opeaiall e

OSA (e a5 3l il plasily sin(x) Aall s gy £l a5t plot ¥ Ll
ol cp sl b iy yal

(bl Jabadall A0 a plas A8LaY grid a1 ety

:m-file wila Liiig Jda

oSl aindl o gllall ) g daial) (1S 22 o5 save as i file 418 (e m-file ale Jadal
Sfirst

A 53 ki) F5 o Uike Ao baal o run first.m i) Debug 4l (e calall badsil




Figure 1 s : , . :
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sal ax3 3l 5 «Control Statements pSaill Jes phidiul J34 (e @l Executions
) Aale diay Aol cilad bl
o5 &1 Al () MATLAB el (8 pSaill Jas pansi (8
conditional Statement 4b_ill daall )
if 4dadill deall g
switch aab_dll Al b
Looping Statements 1S3 deadl Y
for loops LIS Jeall 3
while loops 4as_siall 4,1 Sill Jeall b
Jumping Statements Jill dea .Y
Break ils .3
Continue 4> b
Exception Statements +UiuY! Jes £
Try- catch v .a

conditional Statement 4k il Jasll
if dada il dleall
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Simple If-:damed IF .

Aleall 26y 43 praaia Ja il OIS 1) Lo da i it LISl daua) 3 Alen (o i Aol
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if else :AuLll 3 gualy
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if condition

statementl;

statement2;
Else
statement3;
statement4;

end
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if conditionl
statementl;

elseif condition2
statement2;

elseif condition(n-1)

Statement(n-1);
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statement(n);

end
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- sum=0;
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”else:.f sum<80
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else:.f sum<90
~d:.sp('Very Good') ;
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disp('you entered one' );

two or three or four');

dlSP( you. entered five')§
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disp ('you entered A');
case {'B','C','D'} :
‘ :.sp( you entered A or B or C');
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end
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: #(ﬁ)=(sin(n*pi/10));

.end

»display(x)_gﬁ
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x(n)=(sin(n*pi/10));

end

displayig). = . -
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clc;clea:;close‘all;

x=zeros(1,10); o
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end ;
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clc;clear;close all;
x=1;
while x<20
disp(k);
x=2*%x+1;

end
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sin(x) adjall ‘_,.al*\ﬂ Jalaidal) poi ?3

clc; clear,close all

(V)das
sy G i cos(X) 5 sin(x) Oeillall alada e 1 o8

clc;clear;close all;

x=0:0.1: 10,. :

y-sn.n (x) don

z=cos (x) ; :

plot(x,y,x z) ; i Srhadin
title ('plot of sine and cosine waves');

bl ua ) il

y, =x2cosx,y, =xsinx,x ==2:0.1: 2 o) Gty A0 Al o) (7)dbe
¢
:Jad)

>> x=-2:0.1:2;

>>y1=x."2.*cos(X);

>> y2=x./2.*sin(X);

>> plot(x,y1);

>> hold on

>> plot(x,y2);

>> hold off

>> xlabel(‘x-axis')

>> ylabel('y-axis')

>> grid on
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>>x=-4:.1:4;
e s P
>> plot(x,y,'0")
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x=-10:.01:10;

y1=sin(x);

subplot(3,2,1)

plot(x,y1);xlabel('x');ylabel(‘y');title(’sin(x)')

‘subplot(3,2,2) .

y2=cos(X);

plot(xy2,¥)xlabel(x);ylabel(y)stitle('cos(®))
subplot(3,2,3)
plot(x,yl+y2,’k');x1abel('x');ylabel(’y');title(’sin(x)+cos(x)’)
y4=y2-yl;

subplot(3,2,4)

plot(x,y1 X,y4);xlabel('x") ;ylabel('y') -title('cos(x)-sin(x)")
y5=sin(X);

y6=cos(X);

subplot(3,2,5)
plot(x,yS,'r',x,y6,'k');xlabel('x');ylabel(‘y');title(‘sin(X) and cos(x)')

cos(x)
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x,¥, Z]—cyl:.nder(ll*cos(t) ) b

“su.bplot(2 2,1) ; mesh(X); t:.tle('X‘) -
‘subplot(2,2,2); mesh(¥); ylitle (V¥ by
‘subplot(2,2,3); mesh(Z); Jeitle (') Wik iR _
_subplot(2,2,4) : mesh(X,¥;Z); title('X, y' Gty S e
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x=0z0.216%pw%}

y=sin (x);
plot(x,y,'—ob',‘LineWidt‘,2,'MarkerSize',2)
z=1:1:35; '

t=log(z);

hold on
plot(z,t,'——*r','linewidth',Z,'markersize',Z)
x=0:0.2:6%p1l}

r=cos (X);
plot(x,r,‘—+k','linewidth',z,'markersize',Z)
legend('sinx','logx','cosx',l)




x=-10:0.1:10;

yl=sin(x);

subplot(3,2,1)
plot(x,yl);xlabel('x');ylabel('y');title('sin(x)')
subplot(3,2,2)

y2=cos (x) ;
plot(x,y2,'r');xlabel('x');ylabel('y');title('cos(x)')

subplot (3,2, 3)
plot(x,yl+y2,'k');xlabel('x');ylabel('y');title('sin(x)+cos(x)'
) _

yd=y2-yl;

subplot (3,2,4)
plot(x,yl,x,y4);xlabel(‘x');ylabel('y');title('cos(x)—sin(x)')
y5=sin (x);

y6=Ccos (X) ;

subplot(3,2,5)
plot(x,yS,'r',x,y6,'k');xlabel('x');ylabel('y');title('sin(x)
and cos(x)")
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t=0upl/10:2%pi;

[X,Y,Z]=cylinder (4*cos(t));

subplot(2,2,1);

mesh (X); title('X');

subplot(2,2,2);

mesh(Y); title('Y'):

subplot(2,2,3);

mesh(Z); title('Z');

subplot(2,2,4); mesh(X,Y,2z); title('X,Y,Z2");




clear, clc

X = linspace(O,lO*pi,lOOO);

y = cos(x);

z = sin(x);

plot3(x, vy, 2)

grid

xlabel ('angle'), ylabel('cos(x)'),zlabel(‘sin(x)'),title('A
Spring') ’

A Spring




[X,Y] = meshgrid(-8:.5:8);

R = sqrt(X.”2 + Y."2) + eps;
Z = sin(R) ./R;

figure

mesh (Z)
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